


2 1 9

rgiaw X c (‘I3 S
TXS

&Wv7nf6V: = -
1 0 0

(1) (2) (3) (4) (5)

u.fl.

n.w.

i3.n.

bBI.V.

v4.n.

W.V.

96 1.0801 90 0.9721

97 1.0843 95 1.0301

98 1.0885 110 1.1974

99 1.0927 170 1.8576

100 1.0969 100 1.0969

101 1.1011 90 0,991o



,
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- rn~~nsoi~~~au'l9'Lu57ml  LBl.JJE)I11FI  ( p a r i t y  price)
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lo. Kwff&n~ (Quantity Indexes)
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I c Pt
AP = CPo

M?1s51"13aJ+hl~LQ& : I 1 ~ Pt
PA = ; F-0



226

I Pt=
P

g- (100)
0
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51fJn15

& (Ulvl  in"u

5lFllil  bIGkIm

(Pt)
(ml)

do

5lfllB  $Gblo

(Pt)

(UIM )

do

I c Ptzz
AP z p (loo)

0

'2521 =
153131 (100)  = 116.79

'2522 =
s (100) = 136.64
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2 3 0

I
2521 =

1 80 38 25
z((70+36+2i5+

= 136.2

I = x 100
PA2522

= 195.1

~TCaZ??ltQ&ltsu?nii%  (Geometric Average : IPA = r4afpum Pt 1

tm:Lo  UZll%.l~n  (Harmonic Average : I =B Y
PA )ninn

Pt
cF-0
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5630
1P(L)2521  = 4985  (loo)

= 112.94



5iuni-i

P2c 921 p21 921

I
p(p)2521 = g (loo)

= 112.71 %
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lmfbo loab-J9 baa0 bGb9

5iun75 ‘ilR1 IJJTUIN ‘ilFl1 d%JlN

p20 920 p21 421 p*o(q20  + 921)  P21(920  + 921)

do

nb

bo

a0

nh

90

czo

md

b a

'p(M-E) =
12,415
11,005 (loo)

= 112.81%
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d. Irving Fisher ~??%?ro&&~?lff~~uu Laspeyres ttaz Paasche lnu

fi?ftitSS17m%3~%n;i mirfiMdm"~%~?~au  Fisher (Fisher's Ideal Inedex)

I
p(F) = Ip(L) x Ip (P)

i

c Pt 90 x c Ptqtx
c PO 90 z poqt

= 112.94 x 112.71

=  & K G -

= 112.82 8

G. %?kinV%nilnuduo'a~ (Typical Year Form)

I
c ptqt,

p(T) = 1 L),qt,

V. ~~iuia”5iRi~~~~;aa~~~~~~n~n  (Weighted Average of- - -

Relative Price Index)
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*tc ‘f;-  PO  qJ
0

I
PA

(L) = c *o q.
(?7Y~aklyud~\l)

P
z + Ptqt

0
I =

PA(P) c Pt qt
(%7Y~am'7%lykn'7~  )

?t1:  ‘p  Ptclt)
0 1 rtnt

i‘P4  = c P 9
.,{a  I

t -t 0 t
p(P)
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5lUfll5 P20 420 P21 921 pq0 0

(=V0)
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z Ptc&-w  900
0I

PA(L) = T: Poqo

= 112.94%

IsGaG lodbo bh9G loeiloo

51Ufll-i -ilWl lJ%JlN 5lRl IEUIN

p15 915
P21 921 %sp15 '21'15
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I z qtpo
q(L)  =

- -
c qopo

= gg (200)
,

zz 123.03%

pl5tPlrff51m1  I
c ptq,zz

p(L) z p,qo
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qls I
c gtpt22

9(P) c 9opt

(ml LLUUWI\J  Marshall-Edgeworth

! c '2 (P
I *t 0 + pt)=
qW-E) c 9,(P,  + P,)

Cd:) ttuu%m  Fisher

=
:’

I : qp, z gtpt
\ c qopo x I: 9,Pt

(cl uuuu~Fdwduda~

I
z qtpt,

=

q(rr) c qOpt


